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CODE : 34T ECON

2024
ECONOMICS

( For New Course Students)

Full Marks : 80
(Part-A = 40 + Part-B = 40)
Pass Marks : 24

(Por' Old Course Students in lieu of Project Works )

Full Marks : 100
(Part-A =40 + Part-B =40 + Part-C = 20)
Pass Marks : 30

Time : Three hours

Those who appeared till H.S. Final Exam.-2023
have been treated as Old Course students

The figures in the margin indicate full marks
for the questions.

PART-A (F -9%)

For New Course

Q. No. 1 carries 1 mark eaclt @ny four) .......ccevvrvevvene. 134 = 4
Q. No. 2 carries 2 marks each (any five)..............c.c..... 2x5 =10
Q. No. 3 carries 3 marks each (any two)..........ccccceeeee.. 32 = 6
Q. No. 4 carries 6 marks eaclt (any fw00)........ccoecvcrvvinne. 6x2 = 12
Q. No. 5 carries 8 marks eacl (@ny 0ne) ........coecoerveneenten8x1= 8

Total = 40

PART-B (4 - Si¢#)
For New Course

Q. No. 6 carries 1 mark each (any four) ... 1%4 = 4
Q. No. 7 carries 2 marks each (any five) ............ccevveien 2%5 = 10
Q. No. 8 carries 3 marks eacl (AnY 00)...ccour.rverrveecreiinnn OX2 = 6
Q. No. 9 carries 6 marks each (any H00) s eSS S 6 D 1= F1D
Q. No. 10 carries 8 marks each (any one) ... 831 = 8

Total = 40

PART-C (4 - ©iz#))
For Old Course (in lieu of Project Works)

Q. No. 11 carries 5 marks each (any four) ..........ccovreveves 5x4 = 20
Total = 20
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PART-A / -9

Answer any four of the foll'owing questions : 1x4=4

wele [wal el fReplea bifebrg ©ed fwal 8

()

(ii)

(it1)

(iv)

)

(vi)

What is intermediate good ?
PIES 15 s | M =
If MPS = 1, what is the value of MPC?
7% MPS = 1 Zd, MPC 3 3 & 292
Primary Deficit = Fiscal Deficit— : (Fill in the blank)
el =i = SraEEE =@l - i T 2 759 =)
Which one of the following is not a quantitative credit control
measure of the central bank ?
OF (GO (R (R wlfSieains 4l g Amte w7E e
(a) Bank rate
(GECEAR
(b)) Open market operation
e qeris dfer '

(c) Variable reserve ratio

sifRaeael AarFe e e

(d) Direct control

oy feEe
Write ‘one merit of flexible exchange rate.
siffgeTdia [fFeE 2 9br Fal &l
What is GDP deflator ?
GDP K@HS 62

Answer any five of the following questions : 2x5=10

o[ YH@sd Rigele Alishre ©ed frdl ¢

(i
(i)

(iii)

(iv)

Differentiate between capital expenditure and revenue expenditure.
A A O G AR G Al Frl

What are the components of high-powered money ?

What are the transactions that are included in the capital account
of balance of payments ?

SRl AT L Bpteie f i e vege iz Qe

Define personal income and personal disposable income.

Hfests wiE SiE AfEee TAEET SE AL =124
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(v) As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the

multiplier.
Sl 125 @i 5l 9 e SIS SE 500 (Piib 5l I 2 | S 30
e <11 '

(vi) Distinguish between stock and: flow.
T % @_iRE e Al el .
(vii) Write any two implications of revenue deficit.

ez Wits Rl 7o 2o &

3. Answer any two of the following questions : 3x2=6
wee Tl dRlE Reicl 7oid Oed il @
(i) Write any three limitations of barter system.
S el Rl o) SRk S Al
(ii) What is balance of payments deficit? Write two causes of balance
of payments deficit.

AR Sl A5 2 AReEE el <itd 707 e S T4 |
(iij) Write a short note on : ‘

Autonomous and Induced Investment.

53 (Gt feral ¢

wog W Sfers [

(iv) What is a government budget ? What are the components of
government budget ?

Sl 0SB 52 Al i@t SomiTR & 6

4. Answer any two of the following : 6x2=12

oo TR [ACPIC! o1 e Tl ¢ :

(i)  Discuss the motives of demand for money ? What is liquidity 5trapg

+1=
WW@W%WWWWWW%?

(i) Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPup). 4io=¢
ST S Sl T S ARRS! B el Pl | 0 ©AF ARG I&H
Vs P GO SeAAH sl

(in Rupees crore)
(I 5579)
(i) Mixed income of self-employed 400
sfifere seaa FfEe o
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(11)
(i)

(iv)

(v)

(vi)
(vii)

(viii) Interest

(iii)

Compensation of employees

SISl worEe

Net factor income from abroad

RoT #[ @[ [eb

Net Indirect Taxes

(G s 59)

Consumption of fixed capital

[EsRatacicaaat

(&)
(dret)
GI)

Profits
Rent

Fifdfene @ SRR B 34 |

Discuss the functions of commercial bank.

(in Rupees crore)

(o TFlo)

500
(=20)

100
120

350
100
150

Define aggregate demand and aggregate supply. Complete the

(iv) |
following table and determine the equilibrium level of income :
2+4=6
e ifent A Asfe @l e @Rl e 7 iRy o4 36
Sl S A < 8
Aggregate | Consumption Savings Investment Aggregate
Supply Demand
e calatie Geiretal A% fafAcal e wifzmt
(AS) (C) (S) I (AD)
900 780 40
800 700 40
700 620 40
600 540 20
500 460 40
400 380 a0
300 300 40
200 220 40
100 140 a0
-__;-__—_____-———
5. Answer any one of the following : 8x1=8

OoE AXAIRE el b ©ed fwal

(i) ~ What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.

2+3+3=8

eI A 76 2 SIPAIS SR G+ S 9 AR Wi 59 AR
#eld HiteTioal 41 |
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(i) Explain the determination of exchange rate under flexible exchangé
rate system.

SReaAE R 2@ RS [ 2| Fdfad b w =l

(i) Write short notes on : 4+4=8
3 (Grl Tl 8 '
(a) Demonetisation

fmiese

(b) Fiscal Responsibility and Budget Management Act, 2003
S wIE TR Wi ACEs ZIRole iR, 2003

PART-B / 4-SIt4

6. Answer any four of the following questions : _ 1x4=4

O R RcITel Bifan Oed il &
() What is underdeveloped economy ?
waEe weife e & @2 _
(i) In which year World Trade Organisation (WTO) was formed ?
el e AcEl (WTO) G 5o 513 2feet ? -
(iij) Write the full form of SHG.
SHG 3 7= =7l ferll |
(iv) Write one objective of NITI Aayog.
NITI SR @5) Sl ferl |

(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(c) milk production

(d) agriculture production - (Choose the correct option)
cre [Red sfte ifes —

(a) T Teofiad (0o
(b) THEPD CeAME G0
(c) T T e

(vi) Define privatisation.
Afestoaela Akl

7 Answer any five of the following questions : 2x5=10

o eI I #Avbly S frl ¢

(i Mention two non-institutional sources of rural credit.

éj{?ﬁﬁlqﬁ ﬁf W]ﬁﬁ@gﬂ@@?j 341 |

5
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(ii) - Write two long-term goals of Five Year Plans of India.
wlged AT ARTEE 700 Wdsnial &7 &)

(iij) Mention two types of unemployment prevalent in the agriculture
sector of India.

olfeq $RAYS ebflrs gswmmﬁﬂmﬂmm%mﬂ$m|

(iv) What is the importance of green revolution in the Indian
agriculture ?

oed RIS CToT R oFg B2

(v) Write two positive effects of LPG policies in the Indian economy.

SleE SigHifoe LPG ifed 76 e 2o &l |
(vi) Write two merits of globalisation.

GiFe e 760 JRal S 4|

(vii) Mention two objectives of disinvestment.

s 75 Srl SER 4|

8. Answer any two of the following questions : 3%x2=6
@ @A Rl 7019 Oed ful 8
(i) Write a note on Industrial Policy Resolution, 1956.
Srifie TS 2%, 1956 9 Raw @it Gt fo12 |

(ii) Briefly discuss any one serious environmental problem India is
facing at present time.

ZEF SIS ©lAce TN @R Rl @b eq AR TR {EE
IR (GILRIRSEI

(iij) Discuss the composition of India’s foreign trade on the eve of
independence.

FFTOR ATITSS TSR @S AT 1579 R s w41 |

(iv) Explain the role and importance of education in human capital
formation.

SR LA 510 IR Bl O ¢ 9] <54 |

9. Answer any two of the following questions : 6x2=12
e ePCARE [Tl Kore S firml

(i) V\;’-rlte a comparative note for India, China and Pakistan on the basis
o
(@) Demographic indicators
() Human development indicators
(@) G sl e
(b) W ST RS fefes et i wiw e «ff wemere
(Gl erge el |
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(ii) Briefly discuss the challenges India is facing in the context of
employment. - _
R @ete SReTae FYIE I FFIPRR B0 bl = |

(iij) What is economic reform ? Explain the need for economic reforms
in India. 1+5=6

Tt TR 7 SReaE© YT AT drieH el <q <4 |
(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=6
SiFe Wi ATHET Srze il ATl i [ree [a Bl
10. Answer any one of the following : 8x1=8

wod Repice @bl e S fudll 8

() What do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8

S ToF Az IR [ 9l SRR SR @S 9! SO SR 2R
BRI AMCEAPTIR Sl

(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. 4+4=8
T CeEee ARCITCB] fReaEel 541 | A0S TR GHEd CPATPRR Sl
F4l|

PART-C / 9-9H
(For Old Course Students in lieu of Project Works)
11. Answer any four of the following questions : Sx4=20
woid fgrieal bif9o1 2% Tes faal ¢
(i)  Write a critical note on public debt.
bapial 4T R @b seAsareR (Gl 21 |
(ii) Discuss the sources of demand for foreign currency.
@mie @R bifRuE SRz StEDal < |
(i) Can GDP be used as an index of country’s welfare ? Justify your
answer.

GDP % G (T4 TR Fpaaicel TRl T ARG 7 (OFiE Sesd AT e
MIGEIRIN '

(iv) What is human capital ? Discuss the sources of human capital.
S SJETee 2 SR SR 900 SOPRE Sl w4l |

(v) Briefly write about India as a knowledge economy.
G Sl 2oltel SieaEe @ baie Tl

(vi) Discuss the circular flow of national income in a simple economy.
@2 F79E ST SR D& AR SICEDA! |

b4
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